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QUESTION 1

Which of the following media is the BEST option to provide SAN access between an HBA and a storage device, on an
8Gb/s FC network separated by less than 60 meters (196.85 feet)?

A. Multimode 62.5 micron
B. SFP+ TwinAX

C. Multimode 50 micron
D. Single-mode 9 micron

Correct Answer: C

QUESTION 2

Which of the following distances is supported for 50 micron multimode cable for 4 Gb/s Fibre Channel?
A. 150 meters (492 feet)

B. 350 meters (1148 feet)

C. 600 meters (1968.5 feet)

D. 2000 meters (6561 feet)

Correct Answer: A

QUESTION 3

Which of the following disk drives is MOST common in a SAN?
A. IPI

B. EIDE

C.FC

D. IDE

Correct Answer: C

QUESTION 4
Which of the following is a term used to describe the access type used to populate data on a tape drive?

A. Block level
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B. WORM
C. Tape object level
D. File level

Correct Answer: A

QUESTION 5

In a highly available SAN configuration that guarantees no data loss, which of the following replication approaches is
required?

A. Point-in-time
B. Synchronous
C. Journaling

D. Asynchronous

Correct Answer: B
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